COCHIN PORT AUTHORITY

www.tenderwizard.com/CPT

Tender No: T6/T-2023/2024-C Date: 21/10/2024 (PRICE BID)

Name of Wok:"PROVIDING BARBED WIRE FENCING ON PERIMETER WALL OF MATTANCHERRY WHARF & ERNAKULAM WHARF".

SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT

Please Enter the Contractor Name							
Sl.No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
1	Dismantling barbed wire or flexible wire rope in fencing including making rolls and stacking within 50 metres lead including cost of all labour, equipments, tools etc. complete as per the directions of the Engineer-in-charge.	2300.00	One Kilogram	35.67	Rupees Thirty Five and Sixty Seven Paise Only	82041.00	Rupees Eighty Two Thousand Forty One Only
2	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:4:8 or leaner mix or leaner mix including cost of all labour, equipments, tools etc. complete as per detailed specifications and the directions of the Engineer-in-charge.	13.50	One Cubic Metre	1457.98	Rupees One Thousand Four Hundred Fifty Seven and Ninety Eight Paise Only		Rupees Nineteen Thousand Six Hundred Eighty Two and Seventy Three Paise Only

Sl.No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
3	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, sunken floor etc., up to floor five level, excluding the cost of centering, shuttering and finishing: 1:2:4 (1 Cement : 2 coarse sand (zone-III) : 4 graded stone aggregate 20 mm nominal size) including cost of all labour, materials, equipments, tools etc. complete as per detailed specifications and the directions of the Engineer-in-charge	4.05	One Cubic Metre	11625.91	Rupees Eleven Thousand Six Hundred Twenty Five and Ninety One Paise Only	47084.94	Rupees Forty Seven Thousand Eighty Four and Ninety Three Paise Only
4	Plastering with Cement Mortar 1:4 (1Cement: 4 fine sand) 12mm thick including finishing, curing, cost of all labour, materials, equipments, tools etc. complete as per detailed specifications and the directions of the Engineer-in-charge.	27.00	One Square metre	375.30	Rupees Three Hundred Seventy Five and Thirty Paise Only	10133.10	Rupees Ten Thousand One Hundred Thirty Three and Ten Paise Only

Sl.No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
5	Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface : Water thinnable cement primer including cost of all labour, materials, tools, scaffolding etc.complete as per detailed specifications and directions of Engineer-in-Charge.	27.00	One Square metre	81.54	Rupees Eighty One and Fifty Four Paise Only	2201.58	Rupees Two Thousand Two Hundred One and Fifty Eight Paise Only
6	Finishing walls with Water proof Cement paint of required shade for New Work including cost of all labour, materials, tools, equipments etc. complete as per detailed specification & directions of Engineer-in- charge all complete.	27.00	One Square Metre	124.01	Rupees One Hundred Twenty Four and One Paise Only	3348.27	Rupees Three Thousand Three Hundred Forty Eight and Twenty Seven Paise Only
7	Steel work welded in built up sections/ frames work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required in gratings, frames, guard bar, ladder, railings, brackets, gates and similar work including cost of all labour, materials, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-charge all complete.	1925.00	One Kilogram	127.27	Rupees One Hundred Twenty Seven and Twenty Seven Paise Only	244994.75	Rupees Two Lakh Forty Four Thousand Nine Hundred Ninety Four and Seventy Five Paise Only

Sl.No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : two including cost of all labour, materials, tools, equipments etc. complete as per detailed specification & directions of Engineer-in- charge all complete.	43.00	One Square Metre	165.19	Rupees One Hundred Sixty Five and Nineteen Paise Only	7103.17	Rupees Seven Thousand One Hundred Three and Seventeen Paise Only
	Supplying and providing barbed wire weighing 9.38Kg/m for fencing on GI angle Iron posts including cost of all labour, materials, tools, equipments etc. complete excluding cost of GI posts as per detailed specification & directions of Engineer-in- charge all complete.	24000.00	One Metre	16.31	Rupees Sixteen and Thirty One Paise Only	391440.00	Rupees Three Lakh Ninety One Thousand Four Hundred Forty Only
	Total					808029.54	Rupees Eight Lakh Eight Thousand Twenty Nine and Fifty Three Paise Only

Sl.No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words		
	BIDDERS QUOTING AREA								
				Departemen tal Estimated amount	Percentage quoted above/ below the Departmental Amount		Above/ Below		
Percentage quoted above/ below the departmental amount shown in the above schedule				In Figures	In Words				
 Notes : 1. The Tenderer shall quote either plus or minus sign (eg: +5 or -5) and in figures and words 2. Only two decimal digits shall be accepted 3. Tenderers shall also quote Above/ Below in words themselves in the last column. 4.In case of discepancy in words and figures the quoted figure in word will prevail 									
	" This is an Electronic Submission. No Need of Signature"								